IRIKIE

Assembling Instruction & Parts List

[tem No. . ,
62339 natura small animal hutch with outdoor run 155 x 70 x 53 cm
Pos. No. Description Measurement Quantity I]em No.
1. Connect the 2. Now screw
Pos.1 |Upper front panel 700 x 378 x 25 mm 1 62339-10 both front parts together back
with the side walls and side
Pos. 2  |Bottom front and back panel 700 x 245 x 25 mm 2 62339-11 panels. panels.
Pos. 3 Left side panel 25 x 610%x 480 mm 1 62339-30
Pos. 4 Right side panel 25 x 610% 480 mm 1 62339-31
Pos. 5 Upper back panel 700 x 421 x 25 mm 1 62339-20
Pos. 6 Partition 15 x 305 x 428 mm 1 62339-32
Pos. 7 Drawer with plastic inlay 697 x 38 x 453 mm 1 62339-40
3. Insert the 4. Fasten the roof
pos.g |Roofplate, left 421 x 18 x 530 mm 1 | 6233950 drawer with plates with the
Roof plate, right 62339-51 plastic inlay and .
. hinges.
the partition.
Pos. 9 Ramp 604 x 20 x 180 mm 1 62339-41
Pos. 10 |Front and back panel, enclosure 750 x 535 x 25 mm 2 62339-12
Pos. 11 |Side panel, enclosure, right 25 x 535 x 430 mm 1 62339-32
Pos. 12 |Upper panel, enclosure 750 x 25 x 480 mm 1 62339-52
Pos. 13 |Roof ridge 69 x 45 x 556 mm 1 62239-54 =] 5. Screw the 6. Fasten the roof
check straps ridge as well as the
(screws D) ramp.
Small parts
A M4 x 50 26/1
B M4 x 25 3/1
Countersunk screw r
c M3 x 18 12/1
D M3 x 16 34/1 | 62339-60 H 1
Connection hooks i 4 8. Screw the
Che<_:k strap for roof 11 7 Assemble the connecnon_hooks
left/right for connecting the
enclosure. .
enclosure with the
| hutch.
screws: D
L
130103 TRIXIE Heimtierbedarf GmbH & Co. KG 81860



